Notations:

Banaras Hindu University

1.Options showr in green Color and with ¥ 1COn are correct.

2 .Options shown in red color and with % icon are incorrect.

Question Paper Name: 666

Subject Name: 666

Creation Date: 2019-10-22 13:18:02

Duration: 120

Total Marks: 300

Display Marks: Yes

Calculator: None

Magnifying Glass Required?: No

Ruler Required?: No

Eraser Required?: No

Scratch Pad Required?: No

Rough Sketch/Notepad Required?: No

Protractor Required?: No

Show Watermark on Console?: Yes

Highlighter: No

Auto Save on Console?: No

REET _Health_Statistics

Group Number : 1

Group Id: 76221114

Group Maximum Duration : 0

Group Minimum Duration : 120

Revisit allowed for view? : No

Revisit allowed for edit?: No

Break time: 0

Group Marks: 300

Research_Methodology
Section Id : 76221127
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 40
Number of Questionsto be attempted: 40
Section Marks: 120
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1

Sub-Section Id: 76221127



Question Shuffling Allowed : Yes
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Probability sampling is otherwise called :

T 9iaeel &l AT ol 2

Options:
Multiple choice

% qgfdhcdly =g

Uni-variate _.i"uml}'s.iz

THI-af¥ue fageram
> ®° '

Random Sampli.ng

e e r
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Bi-variate Analyziz
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

A Research Report is a formal statementof .............___.

TH I RO ., T Teh UG (G0N0 B |
Options:

Rezearch Process

| AT Uiha

Research Problem

5 # STAE A

Data collection

3. % :H.I-"]"El '\_:l.__.]. EI:I



Data Editing

4 W \_.E L' '\_;ié-é.:"
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Which of the following is not covered under Intellectual Property Rights ?

fa=fafiaa § 9 & difge duer AfTent & Iiaid Jafamar g ?
Options:
Copvrights

;. & PIURIEC

Patents

> % dcc

Trademarks

r

o W 5:1‘5 [

Thesaurus

. forefey
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

A bar chart or graph which shows the frequency of occurrence of each value of
the variable which is being analysed is termed as :

T TIT‘r AT UTH Wl IN o Ul HIF hi U & Dl Erll"ﬂl"‘l G CEEI] Er SEED
a9yl fohd _"IT?TE'TE’ Pl HEl I ?T.
Options:

Bar chart

| % W9 AT & w9 H

Histogram
5 Hifeirias & wU H

Candle stick
3 % Do Ne® & w0 4



Tabulation
4% R & w9 H

Question Number : 5 Question Id : 7622111305 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

The depth of research can be judged by :
Tl W1 TExTs H1 SEToll SHY ST ofl Gehal @

Options:
Title of the research work

% UE B B NS

Objective of research

o o T @ T

Total expenditure of research
- x I BT B T

Duration of research

4 % T @I 3@ty

Question Number : 6 Question Id : 7622111306 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

The mean of a set scores is 50 and standard dewviation is 10. If the score of each

student is doubled the new median will be -

=T AHI B AeF 50 8 AT AFF FEed 10 £ 1 AT USE B B APl B Gl
& {591 oirg, 93 AT

Options:
Remain unchanged

| RS v

Increase by double
2. '\‘?’? E: g—l_l—ér E"\-ljﬁ

Decrease by half
5 % T HH BFA



Become equal to the mean

4 % T F AER EE

Question Number : 7 Question Id : 7622111307 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which of the following is net a type ot research question ?
=1 § 9§ B U U2 &1 UBN T8l 7

Options:
Predicting an outcome

% ORUTH @1 Afasgari

Evaluating a phenomenon

o % Tl B Hegldh

Developing good practice

5 % IS URAT BT IG1I

A hvpothesis
4 TP TRHTA

Question Number : 8 Question Id : 7622111308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

All of the following are types of non-probability sampling techniques except :
e # 9 9 IN-uifiredr ufaeel daqle @ JaN & g9

Options:
Purp os1ve samp ling

| w AT AfaSE ®

Snowball sampling

o % VATl gfee @

Convenience Eampli:ng

5 % giaar ufoee &



Random Eamp]_mg

4. diglzgdy Mldg=l @
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question
To test null hypothesis, a researcher does nof use :
T YRNEHT & WAV HRA 8g SJEaHdHal 7 § 9 fhesr 9ar 98 s 8 ?
Options:
Chi-square test

s DTS-I TRIETTT

1.

t-test
o % CIOVIE

ANOVA
3 % T

Factorial analysis

4 AT fagero]
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

P-alue stands for -

Tlo Ho& &1 AU 2

Options:
Probability value

1.Jmﬁﬂww

Preference value

E_Qaﬂ?ﬁﬂﬂw

Pre-determined value

_ Ja-T-i¥aa 7Jed



Prescribed value

L% BENECE &

Question Number : 11 Question Id : 7622111311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

In the process of conducting research "Formulation of Hypothesis” is followed
by :
FTHET B DI UlhAT H “URSBTAT & AP & g a1 HIar B :

Options:
Statement of Objectives

| w 9aazdl T faaee
Analysis of Data
o w dids BT fwer

Selection of Research Tools

o o ATHET AEET BT T8

Collection of Data

, & SNPS T HIE

Question Number : 12 Question Id : 7622111312 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Longitudinal studies of cohort groups .........._. ]
S TRl BT AFas AT €

Options:
Study the same people over time

| % BY FHI W Uh B AN BT T

Use panel members as particip ants

o x AFER & W0 § U Haei &1 STar

Study attitudes at a single point in time

3 % TP I W GCHIT B Fena




Use different participants for each sequenced measurement

L  TI® STHHAT AT 7 A= AFERT B ST
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

A deductive theory is one that :

! - [ i

e g ©

Options:
Allows theory to emerge out of the data
| % Sl RIgid & Siids A o~ 8 o @

Involves testing an explicitly defined hypothesis

o o TSTH RO AT GRAITT IRGCIT BT TR Wi 8

Allows for findings to feed back into the stock of knowledge
5 % [OTIPT SETY g §M & H9g H ufayfic &g ey g

Uses qualitative methods whenever possible
4 % Ol ofd 01 9T B [UIAS TGd BT HANT Bl ©
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Meta data is the data that :
ATl ST 98 SIeT & ol

Options:
Distribute other data

% o4 SICT &l dicdl 8

1

Collect other data
5 % I STCT BT THT BT

Describes the other data
5 « SICT &I Fadr &

Destroy the data
4 % SICI @ & Sl 8
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

FEandomization iz done to :
i Sh
ATGEFHIHIVT Bl ATl 2

Options:
Increase bias

| % IFART B1 9@ & ferg

Reduce bias

o  SAAT @ HH B T ferg

For making hypothesis

3 % UREAT TR & oy

To increase drug efficacy

4 % S e B S & fov

Question Number : 16 Question Id : 7622111316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Data is represented in form of notes, recordings and video tapes in :

ATpel I Alc, ¥PHIeT Ud difedicd & w9 § fAwud f&ear o g

Options:
Qualitative Research

| o TS IFTHE H

Quantitative Research

o s WRATIIES JTHE H

Experimental Research

5 % TARTICHG e H

Descriptive Resea rch

4 % dUHTCH® SFTHET H
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question



Grounded theory is often used in formulation of :
qTSSS LRI & G4 gfaured H agen fhan wrdn 2
Options:

Policies and Programme evaluation research

| o N Ud BRISH Jedih STJHaH &

Opportunity for exploring the facts

o % T BT UAT T TG JTH S

Categorizing data

o R

Understanding the culture

4_%% P GHSH B

Question Number : 18 Question Id : 7622111318 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Read the statement A and B and choose the correct option :

BT $ Td G BT Iy 7241 el fabeq gy

Statement A : Variables can be manipulated, controlled or observed by the
experimenter.

FYT F : TN DI TAFTHGT 59T B H amEn, FEEa o sadifead fRar 9 9dar 2 |

Statement B : Variables are not related to theoretical concepts.
HYT | : W AGIAd Faurons | Hafed Tl €|
Options:

Both the statements are true

, % T I TG €

Statement A is true but B is false
o  PIT B T ¢ fbeg P & 9T 2

Both the statements are false

o % G DU IEA T

Statement A is false but B is true

4 % DIT B GG ¢ fbg HUH G A 2
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which of the following is not a category of legal research ?
Tfaad # HE-A1 AfdE o 3 G0 # A% A 57

Options:
a parasitic discipline of law
| o TEEE T @ ET A

a practical discipline of law
o % AN 9 T =T H

an aspect of the humanities
¢ HFEEH] & U U b =9 H

=

an aspect of social sciences
4% HHIE 95 & 95 & =9 H
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Rejection of null hypothesis when it is true is called :
9 B8 ®i [Refa ¥ 990 dN&Gog=T &l 3 -:_F»r’;d T FHEAal & 7

Options:
Type Il error

, % c8u IMFfe

Type Ierror
o o C -qE - Ia—ﬁr

Sampling error

.y TR 3

Standard error

4 % AF® e
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question



In a research study one of the variables selected was (students’) parents’
occupation such as business, farming, service etc. What level of measurement is
this ?

"HTHI HEIE H FAMG U 9 J1a1-0dT $1 dErd oY IR, Wdl, 9al gy |

Options:
Nominal

T

T

"

Ordinal
2. W a ] H Qﬂ- a ':-] ]

Interval

H-aO¥l ¢
o R

Ratio
4 % I3

Question Number : 22 Question Id : 7622111322 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

What is standard error ?
Options:

Standard deviation of the sampling distribution of a statistic
. A=y & giaeyl g & J1d a9

Modal error value of the standard range of a statistic
5 % WIRGHT & JH® 4ol & HJisd Jic A

Error in the calculation of standard deviation of a statistic
o x QO™ @ A e @ T H Ffe

Standardized statistic to minimize error

4 % 3C PP I & [0 ADIFT HiDEI



Question Number : 23 Question Id : 7622111323 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which of the following is helptul in determining sample size ?
UfASel TR & MR & § 94 ¥ 9 &4 9896 & 7

Options:
Ruszell 2000 index
| w <H 2000 FABID
Cochran's formula
HIhv &I -9
o o

Tussad's formula

o x Qg @

Spearman's formula
4 % TIHT w1

Question Number : 24 Question Id : 7622111324 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Which of the following is not true about the case study method ?
‘FTH AFEE A AR H Ffanad # " #9998 57
Options:

It is an expensive method of research

There are many chances of making errors

fe 8M & 9gd d49/EA1 =2l B

=]
-

[t is mainly qualitative in nature
% 5 FEATAT OHE BT B

It is quantitative in nature

4Ju:mm—qtrnrumml 5

Question Number : 25 Question Id : 7622111325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question



Read statement A and B and Choose the correct option :

BT & Ud @ BT UgU TUT Wel fadded &1 FA1d PIfeIT :

Statement A : The Latin square design has an advantage over randomized block
design because it is possible to control the effects of two secondary variables.

YT & : olfcd EEER fSuE agfes o fsusd 9 s ameEds & @il
Tg g1 T =R F UHE BT EEd $ H W 2

Statement B : A 2 x 2 x 2 factorial design has six independent variables.
YT G : U 2x 2 x 2 HHMG feus- 4 B8 Wad =@ 8 2 |

Options:
Both A and B are true

lgmqﬁaaﬁrw%

A is true and B is false
5 @ P AT T A W FEA T

Both A and B are false
5 % & Ud & Al o ©

A is false but B is true
4 % P I € AP @ WA @
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple CThoice Cuestion
A researcher is invstigating teacher's attitude towards year-round schooling. She

is particularly interested in describing the attitude of teachers from small,
medium, and large schools. Which sampling procedure should be used by her to
ensure her sample is representative of these types of schools ?
U AJHUMEHT g4 WY el @& Ul HeATUS & AAgRT Bl AU HR I8 2| 98
B, T dAT g5 Wholl H el © AAgRy & < § 99w &y ¥ foo=al o
el gfcifeeg & HJd ?
Options:

Cluster

1 % qE

Quota
2 % ®IC



Systematic

3 % \‘\_.- Ol ¢

Stratified
4 v WG
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which of the following tvpe of research focuses on amending the prevailing
situations ?

=1 9 9 {59 IR &1 FgHu A RIfadr o1 Gune iR Saiad e g 7
Options:

Action research
| o SPATAE STFxEr

Experimental research
o % WATTICHE e

Fundamental research

= ® ﬂ: 1:" EHTTETH

Conclusive research

, x (ORI ST
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

If there are eight categories or classes in a goodness of fit test, what will be the
degree of freedom ?

i [e9 A e <% d e &l O & €, a1 W=y ®ifc @1 B8R 2

Options:

1.*8

7

e



Cannot tell on the basis of the information given
4 % &8 T FHGR & AER O 94197 e S qehal g
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question
Qualitative research helps in collecting data under more ..........._. situations.

qUITCHS STJHE b fRerferal 3 Siferel Uiz R H Weradl &Yl ¢ |

Options:
Normal

1. % Lo

Natural

5 -\‘;,’? ﬂ E]:S E‘_ 'E:I:S

Experimental
5 % HANTTA®

Artificial
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Read statement A and B and choose the correct option :

YT B Ud @ F IigU TAUT Wl faded vy

Statement A : A case study can be used only in clinical psychology.
YT B : 71 AT (BH ITSI) BT WA hael faer-iad AT H fHar &1 |l
=4

Statement B : The approach of case study is based on the artificial atmosphere.
YT G : g1 AT (W ¥CSl) B glehv HiEH JRe IR A= 2 |
Options:
Both A and B are true
, % U @ EH U

Statement A is true and but B is false

o % DY P U B b O HEA &




Both A and B are false

Statement A is false but B is true
4 % BT P A ¢ olfh] & §F ©
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Which tvpe of research focus on what will be ?

fehe UehTY 1 STTHI &1 BT R BIdd Hecl 8 7

Options:
Experimental

1, o TS

Case study

, % 99 A (P ITH)

Survey

5 % Hae

Ex-post facto
4 % q9 T
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Which of the following should be up to date, complete and affordable for proper

sampling ?

=1 3 9§ ®F Sfag dfaey 2q sterdd, QUi 91 §9a 2 =@1iey ?
Options:
Sampling technique

| x TRE" TE

Sample frame

2_‘&? HE'H\ ;*T‘El-



Reszpondents

5 x AR @ A

Tools for data collection

4%31‘#@@3?@@%
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

What is a research design ?
ATHI e F 7

Options:
A way of conducting research that is not grounded in theory

1%a§ﬂmﬂﬁﬂﬂﬁ‘ﬂ1ﬁﬁ@ﬁﬁmﬁﬁﬂﬁg

The choice between using qualitative or quantitative methods

o % TS T4 ORHETUTCHS Tgiadl &1 TR $HY- & 9" faded

The style in which you present your research findings, e. g. a graph

5 % Joit fSTEH 31T SIT e e sieid T BT Igd BYd ©

A framework for every stage of the collection and analysis of data

4 o ATBST & AT T HIE & FAD YA TG Il
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

It a study is "reliable”, this means that :
Ofe gy fdgaa-my é’ s Hod g b

Options:
It was conducted by a reputed researcher who can be trusted

IE Hidfted SHeGal g &1 Widl 2 o WX faward fear o ¥aar €

1 &

The measures devised for concepts are stable on ditferent occasions

, o SRS o Bferd Surr fafi= sraest w Rer 2@ @



The findings can be generalized to other social settings
o [TSRY DI 3 WAME TR & fu aeriigd fBar o wear 2

=3
The methods are stated clearlv enough tor the research to be replicated
A% I B ufadfa {6 o 2q usfaal o1 W w | udid qardr 147 2
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Ethical norms in research does nof involve guidelines for which of the following ?
ST J Aifquwes JE J e H fege fou feen-fae wide 98 @ ?

Options:

Thesis Format

L  JE HaE U

Copvright
o % PHNIEC

Patenting policy

5 % NoC

Data sharing policy

4 % \_,E [_,l \]\*-l-q“] ;” k
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

_________________ is not a source of Hypothesis.

_____________________ NI &1 Udh Hid 7&f 2 |
Options:
Intuition
. % Heul H[E
Knowledge

2IWEI'I_"T



Energy
3 '\‘:5? '-.?_. ATl

Theorvy

|

4 % 194
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Which of the following variables cannot be expressed in quantitative terms ?
Frefeiad 4 | (59 =R @1 AEHS sl 4 ad el fhdl ol dadl 8 7

Options:
Socio-economic status

| % HITSTS I Rerfd

Marital status

, x AT Refa

Numerical aptitude

2 arE el iR i

Professional aptitude

L % TIER AR
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Which of the following is not a citation style ?
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Which of the following is not a defining characteristics of non-doctrinal research ?
frfefaa & & = fe-Haifas ol @ afveias @ 981 & 7
Options:

It is organized around legal principles and appellate court decisions.
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It puts lesser emphasis upon doctrines.
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It seeks to answer broader and numerous questions.
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It may involve the use of research tcn:r]s. and perspectives not pecu]mr to law.
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which of the following is not true about positivism ?

frefafaa § 9 & vemefare (@fsfefes) & ddg § a2 78 2 ?

Options:

It is associated with Auguste Comte
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It denies metaphysical speculation
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It emphasises on objectivity
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It iz a method used in qualitative rezearch
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Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

In tossing three coins at a time, the probability of getting at most one head is :
Options:

3
3

Pa | =
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question



The chance that a doctor will diagnose a disease correctly is 60%. The chance that a
patient will die by his treatment after correct diagnosis is 40% and the chance of death
by his wrong diagnosis is 70%. A patient who had disease and died. The probability that
his disease was diagnosed correctly is :

Options:

4.%E
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

3 .
For two events A; and A,, if P(A)) = % P(A;) = 2 and P(A, ™ A;) = i then A, and A,
are :

Options:

| % Mutually exclusive but not independent
. % Mutually exclusive and independent

2 Independent but not mutually exclusive

4 % Neither mutually exclusive nor independent
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

A fair coin is tossed repeatedly unless a head is obtained. The probability that the coin
has to be tossed at least four times is :

Options:

1
1.%2
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

One of the two events is certain to happen. The chance of one event is one-fifth of the
other. The odds in favour of the other is :

Options:

1 % 1:6

4_¢I:5
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Why multiple regressions are not considered a multivariate statistical method ?

Options:
, « Because it involves only one dependent variable.

- % Because the number of independent variable is not fixed.

Because the relation between dependent and independent variables is not necessarily
- % linear.

4 % All of the three.
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Cuestion Label - Multiple Choice Question



Confidence Region for a vector of means p of p correlated variable following normal
distribution is :

Options:

| % A sphere

o o An ellipsoid
2 % Hyperboloid

, % Paraboloid
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Multivariate analysis of variance to test the difference across group means is more
appropriate when the dependent variables are :

Options:
, % Independent

5 % Binary

3 o Correlated

4, % Onnominal Scale
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Cuestion Label - Multiple Choice Cuestion

If all the p-variables are independent, then the variance-covariance matrix will be :

Options:
| % A unit matrix

> « A diagonal matrix

5 % A null matrix

4 % An inverse matrix
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Three groups of 30 ladies namely; adolescent, young and middle ageds are to give scores
out of 20 to 5 brands of soap in respect of hardness, foams, antibacterial effect, odor and
price. You are to test whether the groups differ significantly. What type of analysis
would you prefer ?

Options:

, % Multivariate analysis of variance

- » Discriminant analysis

2 Factor analysis

4 % Principal component analysis
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Cuestion Label - Multiple Choice Cuestion

Probability of drawing a unit at each selection remains same in :

Options:

| % SRSWOR

. » SRSWR

3 Both SRSWOR & SRSWR

4 % None of the three
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

If the sample values are 1, 3, 5, 7 and 9, the standard error of sample mean is :
Options:

1 v V2

o W J.‘\."E
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

A population was divided into clusters and it was found that within cluster variation was
less than the variation between clusters. If a sample of units was selected randomly from
each cluster, the sampling procedure used was :

Options:
| % Multistage sampling

5 Stratified sampling

3 ® Cluster sampling

4 ® Systematic sampling
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Correct Marks: 3 Wrong Marks: 1

Juestion Label - Multiple CThoice Cuestion

For estimating the population proportion P in a class of a population having N units, the
variance of the sample proportion p based on sample of size n is :

Options:

% (N/N-1)+(PQ/n)

o % (N/N-1)=(PQ/N)

2 (N—-n/N)=(PQ/n)

, % (N=1/N-n)=(PQ/n)
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

A sample of 16 items from an infinite population indicated total scores 160 with
standard deviation 4. The standard error of sampling distribution of mean is :

Options:



1.\-«4“'

5> w 10
5 % 40

4% None of the three
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

In case of inverse sampling, the proportion 'P' of m units of interest contended in a sample
of n units is :

Options:

, % m/n

o # (m-1)/n
4 (m—1)/(n+l)

4 % (m=1)/(n-1)
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Let the standard error of estimator T under SRSWOR is more than the standard error of
T under stratified random sampling. Than T under stratified random sampling as
compared to T under SRSWOR is :

Options:

| More reliable

- % Less reliable

5 w» Equally reliable

4 % Not comparable
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Cuestion Label : Multiple Choice Question
One can find the initial basic feasible solution by using :

Options:
| v VAM

> % MODI
5 % Optimality test

4 % None of the three
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

The probability density function of a Markov process is :

Options:
| o POLX, X3 o, X)) = pO)P(Xe / X1)P(X3 / X2) oo P /X = 1)

5w PO, %, X5 o, X, ) = P )P(X /X )P(X0 /X3) oo (R, =1/ )
o s PO XX o, X,) = PO)PE)P(X) o P,

4 ® 1”('-""-1;"]‘-2:-""-'3 -------r"}‘-n):P(Il}p{"}‘-i """"'"l)]”(""""ﬁ ""TE} J”(J"u * Xy _1)
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

S(t) = Number of individuals alive beyond t divided by number at risk at baseline is :
Options:
|« Cumulative survival

> % Probability of death

= % Survival before time t

4 w None of the three

Question Number : 61 Question Id : 7622111361 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1



ouestion Label : Multiple Choice Question
The unique feature of survival analysis is it :

Options:
, % Analysis of variable which is time to event

> % Underlying time to event variable is always non negative
5  Analysis of censored data

, % Endpoint is always death
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

The Kaplan Meir estimates are used :

Options:
, % Toestimate hazard rate

> % When survival probability are steadily decreasing
5 % Toestimate regression coefficient in Cox regression

4  Tocalculate survival probabilities when the censorship is present
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Natality rate means :

Options:
L % Mortality rate

- % Morbidity rate

- % Disability rate

4 « Birth rate
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Correct Marks: 3 Wrong Marks: 1



ouestion Label : Multiple Choice Question

Denominator in maternal mortality ratio considered is :
Options:

1« Total number of live births

o R Total Maternal population

= % Total pregnant mothers

4, w Total infants
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which one is the critical stage in demographic transition ?

Options:
, w High stationary

- « Early expanding
5 w Late expanding

, % Declining
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ouestion Label : Multiple Choice Question
Infant mortality does not include :

Options:

, = Early neonatal mortality

- « Perinatal mortality

5 % Postneonatal mortality

4 % Late neonatal mortality
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Cuestion Label : Multiple Choice Question

The Sample Registration System provides adequate information on :
Options:

, % Prevalence of disease in different segment of population

- % Causes of death in rural areas

-  Birth and death rates for the states and the country

4 w Allof the three
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

If 40 observations arranged in ascending order, the median value in the arranged would
be :

Options:

| % 20" observation

5 % 21" observation

-  Average of 20™ and 21" observations

4% None of the three
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

If Hb level of healthy women has mean 13.5 gm% with SD 1.5 gm%, what would be the
Z score for a woman with Hb level 15.0 gm% ?
Options:

L % 15

, % 115

. % 105

L v 10



Question Number : 70 Question Id : 7622111370 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

For a Gaussian distribution all of the following are true except :

Options:
, ®» Mean median and mode are same

-  ltcan have two modes
- = Bell shaped

4 % Mean +28d includes nearly 95% observations
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

The HDL = a + b (calorie intake)+ c (level of physical activity) is an example of :

Options:
| % Simple linear regression

> % Simple curvilinear regression
=  Multiple linear regression

4 % Multiple curvilinear regression

Question Number : 72 Question Id : 7622111372 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

The odds ratio in a case control study was obtained as 5.2. The statistical significance of
OR can be assessed by :

Options:
, = Paired ttest

- w Unpaired t test
5 % Wilcoxon sign rank test

4 + Chi square test
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

If two samples are drawn from two non Gaussian population, to test that the two
population's distribution is similar or different, one should apply :

Options:
;% Unpaired t test

5 % Wilcoxon sign rank test

=  Mann Whitney test

4, % None of the three
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice GQuestion

In a randomized clinical trial, the essential purpose of randomization is :

Options:

, % To produce double blinding

> % Todecrease the follow- up period

3 o To eliminate the selection bias

4 w Todecrease the sample size
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

The type of epidemiological study which compare the risk factor of a disease is :
Options:
, = Descriptive

5 of Analytical

2 ® Experimental



4 w Interventional
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Total number of cases at a given point of time in a given population gives :
Options:
1 « Prevalence

> % Attack rate

z ® Incidence

4, w Attributable risk
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Juestion Label - Multiple Choice GQuestion

Each patient receive both the treatment in a clinical trial, that is called :

Options:
; % Double blind trial

- % Crossover trial

2 Randomized parallel trial

4 % None of the three
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Cuestion Label : Multiple Choice Question

A cohort study is :
Options:
| Costly and time consuming

> w Suffer with lost to follow up

- % Not carried for rare disease



, % Allof the three
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Matching in case control studies is done to control uncertainties due to :

Options:
, % Sampling fluctuation

- « Lackof statistical power

= % Loss of patients in follow up

, w Bias due to confounders
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Correct Marks: 3 Wrong Marks: 1
Question Label : Multiple Choice Question
To evaluate the effectiveness of a drug already in use against renal failure, the patients
are investigated who have taken the drug and who have not. Is this a ?
Options:
, w Prospective study

-  Retrospective study
2 ® Experimental

4 % Clinical trial
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

An indicator of severity of a disease is :
Options:

| % Cause specific death rate

o  Case fatality rate



z ® Incidence rate

4 % Prevalence rate
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Cuestion Label - Multiple Choice Question

Incidence rate of a disease refers to :

Options:

, % New cases in the whole population

- Old cases in the whole population

5 % Bothnew and old cases in the whole population

4 « New cases in the population at risk
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Cuestion Label - Multiple Choice Question

Calculation of relative risk requires :

Options:
, « Prospective study

5 % Retrospective study

= % Cross sectional study

4% Exploratory study

Question Number : 84 Question Id : 7622111384 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label - Multiple Choice Question

Calculation between diet and peptic ulcer is measured by studying the diet in the cases of
peptic ulcer versus diet in non-ulcer cases and association is assessed by :

Options:

, % Relative risk



. % Attributable risk

2 Odds ratio

4, % None of the three
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uestion Label - Multiple Choice Cuestion

The number needed to treat requires :

Options:
, = Relative risk

- % Odds ratio
=  Risk difference

4 % Adtributable risk
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Juestion Label - Multiple Choice Cuestion

For finding the sample size that would be adequate to estimate the proportion of
diabetics among hypertensive's, all the following will be required except :

Options:

, w Confidence level

-  Relative risk
- % Anticipated proportion of diabetics

4 % Levelof significance & anticipated proposition of diabetics
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Confounding can be removed by :
Options:

| % Assign confounders equally to both cases and controls



o w Stratification

- % Matching

4 « All of the three
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uestion Label - Multiple Choice Cuestion

Regarding Case Control study true is

Options:
1« Useful for rare diseases

- w Incidence can be calculated

- w Takes longer time

4, w» Relative risk can be calculated
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

Occurrence of a disease in a haphazard and irregular pattern is known as

Options:

, » Endemic

> % Epidemic

= « Sporadic

, % Pandemic
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Most Difficult criterion to establish Casual Association in aetiology of disease is :

Options:
| % Temporality



> % Strength of Association

2 Speciticity ol Association

4 % Biological plausibility
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uestion Label - Multiple Choice Cuestion

Researcher wants to study the blood levels of Lipid among people who smoke and those
do not. But he is now concerned that smokers might differ from non smokers in their
diet, exercise etc as well. This concerns is known as :

Options:

1 % Recall Bias

- w Information Bias

5 » Hawthorne Bias

4 Selection bias
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Migration study is used to study :
Options:
1w Socio demographic reasons for migration of populations

-~ w Prevalence of disease in a population

2 Environmental and genetic factors in a disease population

4 w Disease with long incubation period
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Mortality rate is :
Options:



L ® Rate

» % Ratio
5 Proportion

4 % None
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Sullivan's Index :

Options:
% Measures disability

> % Measures life years adjusted with death

-  Measures the life expectancy free of disability

4 % Measures life expectancy
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About direct standardized all are true except :

Options:
| Age specific death rate is not needed

> % A Standard population is needed

- % Population should be comparable

4 % Two population are compared
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Epidemiological survey of 'at risk' is called :

Options:



1 ® Survey
5 Screening

Surveillance
3 ®

4% Rehabilitation

Question Number : 97 Question Id : 7622111397 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Which of these is the best determining the threshold for the diagnosis of a positive test ?

Options:
% Pre test probability

-  Receiver operator characteristics curve

- % Pearson coefficient

, % Analysis of Variance
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True positive cases are detected by :

Options:
| % Specificity

o Sensitivity
- » Positive predictive value

4 % Negative predictive value
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Period between the possible time of detection and actual time of diagnosis is :

Options:



. Lead Time
5 % Screening time
z % Generation Time

4 % Serial Interval
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Reliability of a test means :
Options:
, % It measures what it is suppose to measures

o w ILiS able to correctly predict the presence of disease
- % Itis correctly exclude the possibility of disease

4 + Ityield the same reading/value when repeated under same conditions



